A
“Emaux

Parts of SSC-One

SSC-ONE SALT CHLORINATOR REPLACEMENT PARTS

Back to Table of Content

]

POOISSPA

KEY NO. POOLSPA CODES PART NO. DESCRIPTIONS PIECE (S) REQUIRED RETAIL PRICE 2025
1 20920510295 E130018 SSCone Lid with Touch Panel 1 9,130.00
1 20920510300 112222741 Screw M2.5*10(for SSCone lid) 14 30.00
2 20920510305 106090003 Filter 1 1,090.00
2 20920510310 112222675 Screw M4*8(for filter) 2 30.00
3 20920510315 530185745 Casing 1 10,100.00
4 20920510320 530176754 Exhaust Cover for casing 1 300.00
4 20920510325 112222674 Screw M4*6(for Exhaust Cover) 2 30.00
5 20920510330 530176837 Exhaust Cover for SMPS 1 550.00
5 20920510325 112222674 Screw M4*6 (for Exhaust Cover) 4 40.00
6 20920510335 106326825 Switch Mode Power Supply(SMPS) 1 20,900.00
6 20920510340 112000040 Screw M4*12(for SMPS) 4 40.00
7 20920510345 530105745 Bottom Casing 1 6,500.00
7 20920510350 112000037 Screw M4*60B (for Bottom Casing) 2 60.00
7 20920510355 112232645 Screw M4*14(for Bottom Casing) 12 30.00
8 20920510360 178497 Nylon Column M3*5 6 30.00
9 20920510365 E130019 PCB with 4 pins cable (with thermal pad) 1 22,000.00
9 20920510370 112222742 Screw M3*10(for PCB) 6 30.00
10 20920510375 420180886 Cable Clip 1 40.00
10 20920510310 112222675 Screw M4*8(for Cable Clip) 2 30.00
11 20920510380 540005780 Bottom lid of dosing pump 1 400.00
11 20920510385 112000036 Screw M2.5*10(for Bottom lid of dosing pump) 6 30.00
12 20920510390 3168390001 Dosing Pump (with pH Probe and accessories 12-1 to 12-6) 1 19,900.00
12-1 20920510395 178503 pH Probe 1 15,900.00
12-2 20920510400 178504 Probe Cover 1 500.00
12-3 20920510405 178505 Tube 1 4,200.00
12-4 20920510410 178506 Dosing accessories pack 1 3,900.00
12-5 20920510415 178507 Suction Tube 1 500.00
12-6 20920510420 178508 Discharging Tube 1 500.00




KEY NO. POOLSPA CODES PART NO. DESCRIPTIONS PIECE (S) REQUIRED RETAIL PRICE 2025
12-7 20920510425 3169500001 Dosing Pump Only (without accessories) 1 9,900.00
13 20920510430 1062670003 pH socket (BNC) 1 550.00
14 20920510435 106481502 SP Power Point 2 1,320.00
15 20920510440 106234778 PG9 Cable lock 1 550.00
15 20920510310 112222675 Screw M4*8(for PG9 cable lock) 2 550.00
16 20920510445 106090002 Relay 2 660.00
16 20920510310 112222675 Screw M4*8(for Relay) 4 30.00
17 20920510450 112000021 Screw M4*10(for earth cable) 1 40.00
18 20920510730 105021259 Cable with Euro Plug 1 1,090.00
18 20920510455 105011249 Cable with Australia Plug 1 1,090.00
18 20920510460 105061272 Cable with USA Plug 1 1,090.00
19 20920510465 106116849 Euro Power Socket 1 280.00
19 20920510470 106116848 Australia Power Socket 1 280.00
19 20920510475 106116847 USA Power Socket 1 280.00
19 20920510480 E130026 Screw M4*16(for power socket) 4 80.00
20 20920510485 106486840 Pool Cover Socket 1 1,650.00
20 20920510490 106486851 Pool Cover contact 1 2,750.00
21 20920510495 106306844 Overcurrent Protector 1 280.00
22 20920510500 106090006 Ferrite 3 390.00
23 20920510505 109007168 Buffer Solution pH4 (50ml) 1 660.00
24 20920510510 109007167 Buffer Solution pH10 (50ml) 1 660.00
25 20920510735 01201025 Cell Housing 1 3,080.00
25 20920510610 530040442 Cell Housing 1 2,900.00
26 20920510740 02021044 O-Ring for Housing 1 150.00
26 20920510615 111192492 O-Ring for Housing 1 150.00
27 20920510155 08050019 Replacement Cells for SSC25 & SSC50 1 22,900.00
28 20920510160 01171155 1.5" Union(A/E) 2 150.00
29 20320510200 02020016 O-Ring for Union 2 100.00
29 20650510220 111202472 O-Ring for Union 2 110.00
30 20650510270 01171154 2.0" Union (A/E) 2 280.00
30 20650510270-1 430300989 2.0" Union (A/E) 2 280.00
31 20650510276 01013032 2.0" Union Nut 2 280.00
31 20650510275 430170991 2.0" Union Nut 2 280.00
32 20920510166 89380215 Salt Chlorinator Cable Set 1 4,400.00
32 20920510165 9130021 Salt Chlorinator Cable Set 1 4,400.00
33 20920510515 178512 @3x200 Screw knife 1 280.00




